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heel or blue

. The issue that Gale - Shapley address :

G- is a complete balanced bipartite
graph and

⑨
is a 1 - factor

C or a matching that spans G)
B

•

a :O#:

a-

• In the context of preferences ( or rankings )
of vertices I or
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• Gale - Shapley Algorithm
for finding a stable matching

Input : G = ( AUB
,
E ) and

preference lists for A and B
.

① All vertices in A bid for highest
ranked vertex in B to which

they have not already been
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rejected .

② Vertices in B
accept

the bid
from the vertex with highest
rank ,

and reject the rest

③ Repeat ① until all vertices
of A are matched

.

Examples : A -
- { a , saz , assay } , B={bi , bz.bz ,

by }
Ranking .
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82.2 Matchings in General Graphs
• No kiinig Th m here

. There is a Hall 's - like thin

• Notation

q (
G ) = # components of G of odd order
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If G has a 1 - factor
,

then f SE VCG )

q CE
- s ) E 1st

µ

defy : It is a t - factor of G if HE G s
.
t

. VCH ) = VCG )
and His 1- regular

°{e I't is a 1- factor means the edge of It are

a matching and It sparks .

←⇐④
is shown



Thin 2.2 .
I Tutte 's -1hm

C- has a

1 - factor
2=7 t SEV CE )

QCE - s ) E 1st

PI : ⇒ : on pier . page .

⇐ : strategy :

'

edge - maximal counterexample

G My , Mz are 1- factors of G

M
,
D Mz ?

( M
, una ) - Canna )
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